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Signal	
  
•  2	
  possible	
  couplings	
  :	
  gut	
  &	
  gct	
  
•  ProducAon	
  with	
  0/1	
  jet	
  (matched)	
  

–  t-­‐1j-­‐Kappa-­‐gut.txt	
  
–  t-­‐1j-­‐Kappa-­‐gct.txt	
  

•  ExisAng	
  limits	
  from	
  ATLAS-­‐CONF-­‐2013-­‐063:	
  
–  BR_limit_gut	
  =	
  0.0031	
  %	
  	
  
–  BR_limit_gct	
  =	
  0.016	
  %	
  

•  NLO	
  x-­‐secAon	
  	
  arxiv:1409.6959 	
   	
  
	
  è	
  use	
  k=1.5	
  

•  Decay	
  :	
  t	
  à	
  b	
  W	
  with	
  Wà	
  lν	
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Backgrounds	
  
•  W+jets:	
  	
  	
  	
  	
  	
  	
  	
  

–  WToLNu-­‐0Jet_sm-­‐no_masses	
  (including	
  also	
  -­‐run2)	
  to	
  WToLNu-­‐3Jets_sm-­‐
no_masses	
  

•  cbar: 	
  	
  	
  	
  	
  	
  	
  
–  TTsemilep_madspin_1	
  &_2,	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  
–  TTdilep_madspin	
  

•  Single	
  top:	
  	
  
–  SingleTop_W_madspin,	
  
–  SingleTop_s_madspin	
  (old	
  files),	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  
–  SingleTop_t_4FS_madspin	
  	
  

•  Z+jets:	
   	
  	
  
–  ZToLL10-­‐50-­‐0Jet_sm-­‐no_masses	
  to	
  ZToLL10-­‐50-­‐3Jets_sm-­‐no_masses,	
  	
  
–  ZToLL50-­‐0Jet_sm-­‐no_masses	
  to	
  ZToLL50-­‐4Jets_sm-­‐no_masses_split	
  

•  Neglected	
  in	
  the	
  study:	
  mulAjets	
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Selec8on	
  

•  =	
  1	
  lepton	
  pT=>30	
  GeV	
  (no	
  other	
  lepton	
  with	
  pT=>20),	
  |η|<2.5,	
  
Combined	
  Iso	
  (cone04)<=0.2	
  

•  1	
  or	
  2	
  jets:	
  pT(j1)=>30	
  GeV,	
  pT(j2)=>20	
  GeV,	
  (no	
  other	
  jet	
  with	
  pT=>20	
  
GeV),	
  	
  |η|<=2.4,	
  H/E=1./EEoverHE()>0.15,	
  cleaning	
  w/r	
  to	
  lepton	
  in	
  
ΔR=0.1	
  

•  b-­‐tagging:	
  Tight	
  criteria	
  for	
  j1.	
  	
  
[ModificaAon	
  of	
  the	
  AnalysisHelper	
  class	
  to	
  return	
  the	
  efficiency	
  of	
  b-­‐tagging	
  
per	
  jet	
  -­‐>	
  used	
  as	
  a	
  weight	
  to	
  avoid	
  lack	
  of	
  staAsAcs	
  in	
  my	
  case	
  for	
  DY.]	
  

•  MET>=30	
  &	
  MT(W)>=50	
  GeV	
  from	
  ATLAS	
  paper,	
  used	
  for	
  mulAjet	
  
suppression.	
  

•  No	
  photon	
  with	
  pT>=10	
  GeV,	
  |η|<2.5,	
  Combined	
  Iso	
  (cone04)<=0.2	
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Cut&Count	
  

Sig	
  =	
  S/sqrt(S+B)	
  
	
  	
  =	
  25.5	
  for	
  gct	
  
	
  	
  	
  	
  	
  	
  (BR_limit)	
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100	
  s-­‐1	
  

Sig	
  =	
  S/sqrt(S+B)	
  
=	
  14.4	
  for	
  gut	
  
	
  	
  	
  	
  	
  	
  (BR_limit)	
  

Comparison	
  with	
  ATLAS	
  selecAon:	
  	
  
ATLAS@8TeV=	
  exactly	
  1	
  jet	
  
	
  
Sig	
  =	
  25.0	
  for	
  gct	
  and	
  14.3	
  for	
  gut	
  if	
  =	
  1jet	
  
	
  
In	
  our	
  case	
  we	
  have	
  a	
  signal	
  pp-­‐>t	
  with	
  up	
  to	
  
1	
  parton.	
  So	
  it	
  make	
  sense	
  to	
  keep	
  also	
  1	
  
extra	
  jet	
  (in	
  addiAon	
  to	
  the	
  b	
  jet),	
  even	
  if	
  the	
  
gain	
  is	
  small…	
  



Contamina8on	
  from	
  other	
  signals	
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100	
  s-­‐1	
  

No	
  contaminaAon	
  from	
  other	
  FCNC	
  signals.	
  
(the	
  full	
  names	
  of	
  the	
  files	
  considered	
  are	
  in	
  back-­‐up)	
  



MVA	
  analysis	
  
•  Use	
  BDT	
  
•  Start	
  from	
  21	
  variables	
  

•  Try	
  to	
  reduce	
  the	
  number	
  of	
  variables:	
  
–  Keep	
  the	
  most	
  discriminaAng	
  ones	
  and/or	
  the	
  variables	
  which	
  
present	
  very	
  different	
  correlaAons	
  in	
  signal	
  and	
  in	
  background.	
  	
  

–  Remove	
  the	
  variables	
  with	
  too	
  large	
  correlaAons.	
  	
  	
  

•  Results:	
  9	
  variables	
  in	
  BDT:	
  
–  	
  	
  	
  Mtop,	
  MT(W),pT(W),	
  pT(b=j1),	
  	
  Δφ(b,W),	
  Δφ(l,b),	
  Δφ(l,ν	
  =MET),

	
  η(l),	
  Q(l)	
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Input	
  variables	
  (1)	
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gct	
  
gut	
  	
  



Input	
  variables	
  (2)	
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gct	
  
gut	
  	
  



Input	
  variables	
  (3)	
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Those	
  2	
  variables	
  (η	
  and	
  charge	
  of	
  the	
  lepton)	
  present	
  a	
  difference	
  between	
  the	
  2	
  signals.	
  
They	
  will	
  be	
  used	
  in	
  both	
  trainings	
  (1	
  for	
  gut	
  and	
  1	
  for	
  gct)	
  even	
  if	
  they	
  are	
  not	
  always	
  very	
  
discriminaAng	
  (ex:	
  η(l)	
  for	
  gcut),	
  in	
  order	
  to	
  use	
  the	
  same	
  set	
  of	
  variables	
  for	
  the	
  2	
  signals.	
  

gct	
  
gut	
  	
  



Correla8on	
  between	
  input	
  variables	
  

gct	
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No	
  overtraining	
  

(gct)	
  



BDT	
  output	
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Very	
  similar	
  output	
  BDT	
  for	
  gut	
  and	
  gct	
  
signals	
  when	
  using	
  the	
  gct	
  training.	
  

Slightly	
  different	
  output	
  BDT	
  for	
  gut	
  and	
  
gct	
  signals	
  when	
  using	
  the	
  gut	
  training.	
  
This	
  is	
  due	
  to	
  Q(l)	
  which	
  has	
  a	
  large	
  
discriminaAng	
  power	
  for	
  gut	
  (and	
  not	
  for	
  
gct).	
  

gct	
  
gut	
  	
  



Significance	
  for	
  BDT	
  analysis	
  	
  

Sig	
  =	
  S/sqrt(S+B) 	
  gct 	
   	
  gut	
  
	
  	
  Cut&Count 	
   	
  25.5	
  	
   	
  14.4	
  
	
  	
  BDT 	
   	
   	
  35.4	
  	
   	
  21.5	
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Compute	
  the	
  significance	
  for	
  a	
  given	
  BDT	
  cut	
  

Keep	
  the	
  best	
  significance.	
  
This	
  is	
  for	
  a	
  fixed	
  BR	
  (BR_limit),	
  assuming	
  
the	
  other	
  signal	
  is	
  0.	
  

(gct)	
  



Different	
  choice	
  of	
  variables	
  for	
  MVA:	
  	
  
ATLAS=	
  pT(b),	
  pT(W),	
  Δφ(W,	
  MET)	
  in	
  the	
  top	
  rest	
  frame,	
  Q(l),	
  η(l),	
  Δφ(l,	
  b),	
  η(top),	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  Δφ(l,	
  W),	
  Δφ(b,	
  top),	
  Δφ(l,	
  top),	
  Δφ(W,	
  top),	
  MET,	
  η(nu).	
  
Here=Mtop,	
  MT(W),pT(W),	
  pT(b=j1),	
  	
  Δφ(b,W),	
  Δφ(l,b),	
  Δφ(l,ν	
  =MET),	
  η(l),	
  Q(l).	
  

	
   	
   	
   	
  [red	
  are	
  the	
  common	
  ones]	
  
	
  
Using	
  ATLAS’s	
  set	
  of	
  variables	
  on	
  top	
  of	
  my	
  selecAon	
  leads	
  to	
  significance	
  of	
  33.6	
  for	
  
gct	
  and	
  20.2	
  for	
  gut,	
  which	
  is	
  a	
  bit	
  lower	
  than	
  the	
  values	
  obtained	
  with	
  a	
  BDT	
  trained	
  
over	
  the	
  my	
  9	
  preferred	
  variables	
  (in	
  which	
  the	
  mass(top)	
  has	
  the	
  best	
  ranking	
  in	
  both	
  
gct	
  and	
  gut	
  scenarios).	
  
	
  
	
  
	
  

Comparison	
  w/	
  ATLAS	
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Sig	
  =	
  S/sqrt(S+B) 	
  gct 	
   	
  gut	
  
BDT 	
   	
   	
   	
  35.4	
  	
   	
  21.5	
  
ATLAS	
  set	
   	
   	
  33.6	
   	
  20.2	
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Scan	
  over	
  BR	
  or	
  Coupling	
  
We	
  can	
  repeat	
  the	
  same	
  procedure	
  for	
  different	
  BR	
  or	
  Coupling	
  K.	
  
	
  
	
  
	
  
Signal	
  scales	
  as	
  BR/BR_limit. 	
   	
   	
   	
   	
  Signal	
  scales	
  as	
  K2/K_limit2.	
  
	
   Sig	
  (gut)	
  =	
  21.5	
  @	
  BR_Limit	
  	
  

K	
  =	
  sqrt[	
  (BR	
  *	
  Gamma_top)	
  /	
  parAal	
  width	
  (K=1)	
  ]	
  

(gut)	
   (gut)	
  



02/07/2015	
  

Scan	
  over	
  BR	
  or	
  Coupling	
  
Signal	
  scales	
  as	
  BR/BR_limit. 	
   	
   	
   	
   	
  Signal	
  scales	
  as	
  K2/K_limit2.	
  
	
  

K	
  =	
  sqrt[	
  (BR	
  *	
  Gamma_top)	
  /	
  parAal	
  width	
  (K=1)	
  ]	
  

à1D	
  limit	
  values	
  (based	
  on	
  BDT	
  results):	
  
Sig	
  =	
  S/sqrt(S+B)	
  	
  	
  2sigma, 	
  	
  3	
  sigma, 	
  	
  	
  5	
  sigma	
  	
  
K(gut)	
   	
   	
  3.25e-­‐06 	
  	
  3.95e-­‐06 	
  	
  	
  5.15e-­‐06	
  
K(gct)	
   	
   	
  5.65e-­‐06 	
  	
  6.95e-­‐06 	
  	
  	
  8.95e-­‐06	
  

à1D	
  limit	
  values	
  (based	
  on	
  BDT	
  results):	
  
Sig	
  =	
  S/sqrt(S+B)	
  	
  	
  	
  2sigma, 	
  	
  3	
  sigma, 	
  	
  5	
  sigma	
  	
  
BR(gut)	
   	
   	
  	
  	
  	
  2.9e-­‐06 	
  	
  4.3e-­‐06 	
  	
  7.1e-­‐06	
  
BR(gct) 	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  9.25e-­‐06 	
  	
  1.325e-­‐05	
  	
  2.225e-­‐05	
  
	
  

(gut)	
   (gut)	
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Scan	
  over	
  BR	
  or	
  Coupling	
  
Signal	
  scales	
  as	
  BR/BR_limit. 	
   	
   	
   	
   	
  	
  
	
  

à1D	
  limit	
  values	
  (based	
  on	
  BDT	
  results):	
  
Sig	
  =	
  S/sqrt(S+B)	
  	
  	
  	
  2sigma, 	
  	
  3	
  sigma, 	
  	
  5	
  sigma	
  	
  
BR(gut)	
   	
   	
  	
  	
  	
  2.9e-­‐06 	
  	
  4.3e-­‐06 	
  	
  7.1e-­‐06	
  
BR(gct) 	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  9.25e-­‐06 	
  	
  1.325e-­‐05	
  	
  2.225e-­‐05	
  
	
  

(gut)	
  

Acutal	
  limit	
  @8TeV	
  from	
  ATLAS: 	
  	
  
BR(gut)	
  <	
  3.1e-­‐05	
  	
  (excluded	
  @95%)	
  
BR(gct)	
  <	
  1.6e-­‐04	
  (excluded	
  @95%)	
  



2D	
  Limits	
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Contours	
  @	
  3sigma	
  and	
  5	
  sigma	
   Contours	
  @	
  3sigma	
  and	
  5	
  sigma	
  

Limits	
  can	
  also	
  be	
  extracted	
  in	
  2D,	
  assuming	
  both	
  signals	
  may	
  exist	
  at	
  the	
  same	
  Ame.	
  
Plots	
  gct	
  vs	
  gut	
  with	
  color	
  axis	
  =	
  max	
  (significance	
  for	
  gct	
  training,	
  significance	
  for	
  gut	
  training)	
  



Mul8jets:	
  Impact	
  on	
  the	
  1D	
  Limits	
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à1D	
  limit	
  values	
  (based	
  on	
  BDT	
  results):	
  
Sig	
  =	
  S/sqrt(S+B)	
  	
  	
  	
   	
  2sigma, 	
  	
   	
  3	
  sigma, 	
   	
  	
  5	
  sigma	
  	
  
K(gut)	
   	
   	
   	
  3.25e-­‐06 	
  	
   	
  3.95e-­‐06 	
  	
  	
   	
  5.15e-­‐06	
  
K(gct)	
   	
   	
   	
  5.65e-­‐06 	
  	
   	
  6.95e-­‐06 	
  	
  	
   	
  8.95e-­‐06	
  
	
  
BR(gut)	
   	
   	
  	
  	
  	
   	
  2.9e-­‐06 	
  	
   	
  4.3e-­‐06 	
  	
   	
  7.1e-­‐06	
  
BR(gct) 	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  9.25e-­‐06 	
  	
   	
  1.325e-­‐05 	
  	
  2.225e-­‐05	
  
	
  
à	
  MulAjet	
  :15%	
  à	
  Sig'	
  =	
  S/sqrt(S	
  +	
  1.15*B)	
  [using	
  the	
  same	
  BDT	
  cut	
  as	
  in	
  the	
  previous	
  case]	
  
	
  	
  
Sig’ 	
   	
   	
   	
  2sigma 	
  	
   	
  3	
  sigma 	
   	
  	
  5	
  sigma	
  	
  
K(gut) 	
   	
   	
  3.35e-­‐06 	
   	
  4.15e-­‐06 	
   	
  	
  5.25e-­‐06	
  
K(gct)	
   	
   	
   	
  5.85e-­‐06 	
   	
  7.15e-­‐06 	
   	
  	
  9.25e-­‐06	
  
	
  
BR(gut) 	
   	
   	
  3.1e-­‐06 	
   	
  4.7e-­‐06 	
   	
  7.7e-­‐06	
  
BR(gct)	
   	
   	
   	
  9.75e-­‐06 	
   	
  1.425e-­‐05 	
  2.375e-­‐05	
  
	
  
	
  

Acutal	
  limit	
  @8TeV	
  from	
  ATLAS: 	
  	
  
BR(gut)	
  <	
  3.1e-­‐05	
  	
  (excl	
  @95%)	
  
BR(gct)	
  <	
  1.6e-­‐04	
  (excl	
  @95%)	
  

Small	
  effect!	
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à1D	
  limit	
  values	
  (based	
  on	
  BDT	
  results):	
  
Sig	
  =	
  S/sqrt(S+B)	
  	
  	
  	
   	
  2sigma, 	
  	
   	
  3	
  sigma, 	
   	
  	
  5	
  sigma	
  	
  
K(gut)	
   	
   	
   	
  3.25e-­‐06 	
  	
   	
  3.95e-­‐06 	
  	
  	
   	
  5.15e-­‐06	
  
K(gct)	
   	
   	
   	
  5.65e-­‐06 	
  	
   	
  6.95e-­‐06 	
  	
  	
   	
  8.95e-­‐06	
  
	
  
BR(gut)	
   	
   	
  	
  	
  	
   	
  2.9e-­‐06 	
  	
   	
  4.3e-­‐06 	
  	
   	
  7.1e-­‐06	
  
BR(gct) 	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  9.25e-­‐06 	
  	
   	
  1.325e-­‐05 	
  	
  2.225e-­‐05	
  
	
  
à	
  uncertaintyà	
  Sig''	
  =	
  S/sqrt(S+	
  B	
  +	
  (x*B)**2)	
  	
  	
  	
  [with	
  new	
  BDT	
  cut	
  opAmizaAon]	
  
Sig’’ 	
   	
   	
   	
  2sigma 	
  	
   	
  3	
  sigma 	
   	
  	
  5	
  sigma	
  	
  
with	
  x=0.10	
  
BR(gut)	
   	
   	
   	
  3.75e-­‐05 	
   	
  	
  5.75e-­‐05	
   	
  9.25e-­‐05	
  
BR(gct) 	
   	
   	
  0.000225	
   	
  0.000325	
   	
  0.000525	
  
with	
  x=0.05	
  
BR(gut)	
   	
   	
   	
  2.125e-­‐05 	
  3.125e-­‐05 	
  5.125e-­‐05	
  
BR(gct)	
   	
   	
   	
  0.0001025 	
  0.0001525 	
  0.0002575 	
  	
  
with	
  x=0.025	
  
BR(gut)	
   	
   	
   	
  1.375e-­‐05 	
  1.875e-­‐05 	
  3.125e-­‐05	
  
BR(gct)	
   	
   	
   	
  5.75e-­‐05 	
   	
  8.75e-­‐05 	
   	
  0.0001475 	
  	
  
	
  

Acutal	
  limit	
  @8TeV	
  from	
  ATLAS: 	
  	
  
BR(gut)	
  <	
  3.1e-­‐05	
  	
  (excl	
  @95%)	
  
BR(gct)	
  <	
  1.6e-­‐04	
  (excl	
  @95%)	
  

Systema8cs:	
  Impact	
  on	
  the	
  1D	
  Limits	
  

Same	
  order	
  than	
  actual	
  
limit!	
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Conclusions	
  
W	
  

ν	
  

b	
  

l	
  

The	
  full	
  study	
  of	
  ppàt	
  in	
  the	
  lνb	
  channel	
  has	
  been	
  presented	
  here.	
  
	
  
Prospects	
  of	
  what	
  can	
  be	
  reached	
  with	
  100	
  s-­‐1	
  at	
  13TeV	
  in	
  the	
  
ppàtàlνb	
  channel:	
  

Expect	
  improved	
  results	
  by	
  comparison	
  to	
  Run1	
  limits.	
  
Remarks:	
  
•  The	
  mulAjet	
  background	
  has	
  been	
  neglected	
  in	
  the	
  study.	
  Adding	
  a	
  15%	
  background	
  

contribuAon	
  has	
  a	
  small	
  effect	
  on	
  the	
  limits.	
  	
  
•  In	
  opposite,	
  including	
  systemaAcs	
  has	
  a	
  huge	
  effect,	
  because	
  background	
  is	
  large.	
  	
  à	
  

Shape	
  analysis	
  could	
  help.	
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TranslaAon	
  for	
  the	
  signal	
  names	
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Comparison	
  w/	
  ATLAS	
  

(hatched	
  =	
  stat	
  error	
  +	
  mulAjet	
  
norm	
  uncert)	
  

Larger	
  background	
  is	
  W+HF	
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Test	
  BDT	
  	
  21	
  variables,	
  signal	
  gct	
  
-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
varList.push_back("tree_charge_l");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(3);	
  	
  xminVar.push_back(-­‐1.5);	
  xmaxVar.push_back(1.5);	
  
varList.push_back("tree_pt_l");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(80);	
  xminVar.push_back(0.);	
  	
  	
  xmaxVar.push_back(200.);	
  
varList.push_back("tree_eta_l");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(50);	
  xminVar.push_back(-­‐2.5);	
  xmaxVar.push_back(2.5);	
  
varList.push_back("tree_pt_b");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(80);	
  xminVar.push_back(0.);	
  	
  	
  xmaxVar.push_back(200.);	
  
varList.push_back("tree_eta_b");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(50);	
  xminVar.push_back(-­‐2.5);	
  xmaxVar.push_back(2.5);	
  
varList.push_back("tree_mtw");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(50);	
  xminVar.push_back(50.);	
  	
  xmaxVar.push_back(150);	
  
varList.push_back("tree_pt_W");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(80);	
  xminVar.push_back(0.);	
  	
  	
  xmaxVar.push_back(300.);	
  
varList.push_back("tree_mass_top");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(120);	
  xminVar.push_back(0.);	
  	
  	
  xmaxVar.push_back(600.);	
  
varList.push_back("tree_eta_top");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐10.);	
  	
  xmaxVar.push_back(10.);	
  
varList.push_back("tree_met");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(100);xminVar.push_back(0.);	
  	
  	
  xmaxVar.push_back(200);	
  
varList.push_back("tree_dphi_lnu");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_lb");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_lw");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_lt");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_bt");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_wt");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_wnu");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_boost");	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_dphi_bw");	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(40);	
  xminVar.push_back(-­‐3.2);	
  xmaxVar.push_back(3.2);	
  
varList.push_back("tree_eta_nu");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(50);	
  xminVar.push_back(-­‐5.);	
  xmaxVar.push_back(5.);	
  
varList.push_back("tree_dr_lt");	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nbinsVar.push_back(80);	
  xminVar.push_back(-­‐8.);	
  xmaxVar.push_back(8.);	
  
15:07	
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-­‐-­‐-­‐	
  TFHandler_Factory	
  	
  	
  	
  	
  	
  	
  	
  :	
  Ranking	
  input	
  variables	
  (method	
  unspecific)...	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  Ranking	
  result	
  (top	
  variable	
  is	
  best	
  ranked)	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  Rank	
  :	
  Variable	
  	
  	
  	
  	
  	
  	
  	
  :	
  SeparaAon	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  1	
  :	
  tree_mass_top	
  	
  	
  :	
  1.811e-­‐01	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  2	
  :	
  tree_pt_W	
  	
  	
  	
  	
  	
  	
  :	
  1.058e-­‐01	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  3	
  :	
  tree_pt_b	
  	
  	
  	
  	
  	
  	
  :	
  9.945e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  4	
  :	
  tree_dphi_lnu	
  	
  	
  :	
  9.145e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  5	
  :	
  tree_mtw	
  	
  	
  	
  	
  	
  	
  	
  :	
  7.622e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  6	
  :	
  tree_dphi_bw	
  	
  	
  	
  :	
  6.115e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  7	
  :	
  tree_met	
  	
  	
  	
  	
  	
  	
  	
  :	
  5.822e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  8	
  :	
  tree_dphi_boost	
  :	
  5.772e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  9	
  :	
  tree_pt_l	
  	
  	
  	
  	
  	
  	
  :	
  5.673e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  10	
  :	
  tree_dphi_lb	
  	
  	
  	
  :	
  5.501e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  11	
  :	
  tree_dphi_lw	
  	
  	
  	
  :	
  5.301e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  12	
  :	
  tree_dphi_wnu	
  	
  	
  :	
  4.985e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  13	
  :	
  tree_eta_top	
  	
  	
  	
  :	
  2.212e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  14	
  :	
  tree_dr_lt	
  	
  	
  	
  	
  	
  :	
  2.174e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  15	
  :	
  tree_dphi_bt	
  	
  	
  	
  :	
  2.079e-­‐02	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  16	
  :	
  tree_eta_l	
  	
  	
  	
  	
  	
  :	
  6.668e-­‐03	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  17	
  :	
  tree_eta_nu	
  	
  	
  	
  	
  :	
  5.230e-­‐03	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  18	
  :	
  tree_eta_b	
  	
  	
  	
  	
  	
  :	
  1.751e-­‐03	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  19	
  :	
  tree_charge_l	
  	
  	
  :	
  1.095e-­‐03	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  20	
  :	
  tree_dphi_wt	
  	
  	
  	
  :	
  1.020e-­‐03	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  21	
  :	
  tree_dphi_lt	
  	
  	
  	
  :	
  2.524e-­‐04	
  
-­‐-­‐-­‐	
  IdTransformaAon	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
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-­‐-­‐-­‐	
  Factory	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  Ranking	
  input	
  variables	
  (method	
  specific)...	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  Ranking	
  result	
  (top	
  variable	
  is	
  best	
  ranked)	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  Rank	
  :	
  Variable	
  	
  	
  	
  	
  	
  	
  	
  :	
  Variable	
  Importance	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  1	
  :	
  tree_mass_top	
  	
  	
  :	
  1.736e-­‐01	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  2	
  :	
  tree_pt_W	
  	
  	
  	
  	
  	
  	
  :	
  1.160e-­‐01	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  3	
  :	
  tree_mtw	
  	
  	
  	
  	
  	
  	
  	
  :	
  9.651e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  4	
  :	
  tree_dphi_bw	
  	
  	
  	
  :	
  7.589e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  5	
  :	
  tree_dr_lt	
  	
  	
  	
  	
  	
  :	
  6.764e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  6	
  :	
  tree_pt_b	
  	
  	
  	
  	
  	
  	
  :	
  6.110e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  7	
  :	
  tree_dphi_boost	
  :	
  4.242e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  8	
  :	
  tree_met	
  	
  	
  	
  	
  	
  	
  	
  :	
  4.218e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  	
  9	
  :	
  tree_eta_l	
  	
  	
  	
  	
  	
  :	
  3.849e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  10	
  :	
  tree_dphi_wt	
  	
  	
  	
  :	
  3.323e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  11	
  :	
  tree_dphi_bt	
  	
  	
  	
  :	
  3.209e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  12	
  :	
  tree_dphi_lw	
  	
  	
  	
  :	
  3.178e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  13	
  :	
  tree_dphi_lb	
  	
  	
  	
  :	
  2.976e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  14	
  :	
  tree_pt_l	
  	
  	
  	
  	
  	
  	
  :	
  2.876e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  15	
  :	
  tree_eta_b	
  	
  	
  	
  	
  	
  :	
  2.820e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  16	
  :	
  tree_dphi_lnu	
  	
  	
  :	
  2.703e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  17	
  :	
  tree_charge_l	
  	
  	
  :	
  2.175e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  18	
  :	
  tree_eta_nu	
  	
  	
  	
  	
  :	
  1.708e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  19	
  :	
  tree_dphi_wnu	
  	
  	
  :	
  1.691e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  20	
  :	
  tree_dphi_lt	
  	
  	
  	
  :	
  1.654e-­‐02	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  	
  	
  21	
  :	
  tree_eta_top	
  	
  	
  	
  :	
  3.011e-­‐03	
  
-­‐-­‐-­‐	
  BDT	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  :	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  

-­‐-­‐-­‐	
  ==================================================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  34486,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1800	
  	
  	
  	
  	
  	
  35.4951	
  	
  22582.62	
  	
  382191.7	
  	
  	
  0.6548	
  	
  	
  0.2132	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
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Results	
  from	
  differents	
  tests	
  	
  

full	
  21	
  var	
  gct	
  	
  
-­‐-­‐-­‐	
  =============================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  34486,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1800	
  	
  	
  	
  	
  	
  35.4951	
  	
  22582.62	
  	
  382191.7	
  	
  	
  0.6548	
  	
  	
  0.2132	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
9	
  var	
  gct	
  
-­‐-­‐-­‐	
  ===========================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  34486,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1765	
  	
  	
  	
  	
  	
  35.4065	
  	
  22466.64	
  	
  	
  	
  380168	
  	
  	
  0.6515	
  	
  	
  	
  0.212	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
9	
  var	
  gut	
  
-­‐-­‐-­‐	
  ===========================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  19429,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1709	
  	
  	
  	
  	
  	
  21.5089	
  	
  	
  11133.2	
  	
  	
  	
  256786	
  	
  	
  	
  0.573	
  	
  	
  0.1432	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
atlas	
  gct	
  
-­‐-­‐-­‐	
  ==========================================================================	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  34486,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1759	
  	
  	
  	
  	
  	
  33.6112	
  	
  22209.73	
  	
  414424.9	
  	
  	
  	
  0.644	
  	
  	
  0.2311	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
atlas	
  gut	
  
-­‐-­‐-­‐	
  ===========================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  19429,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1990	
  	
  	
  	
  	
  	
  	
  20.181	
  	
  11653.17	
  	
  	
  	
  321775	
  	
  	
  0.5998	
  	
  	
  0.1795	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
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Check	
  when	
  varying	
  the	
  mul8jet	
  cut,	
  for	
  gct	
  only	
  (using	
  the	
  same	
  9	
  variables)	
  
	
  

	
   	
   	
   	
  Cut&Count 	
   	
   	
  MVA	
  
#jets=1	
  or	
  2	
   	
   	
  Sig=25.5 	
   	
   	
   	
  Sig=35.4	
  
#jets=1	
   	
   	
   	
  Sig=25.0 	
   	
   	
   	
  Sig=33.4	
  
#jets=2 	
   	
   	
  Sig=11.0 	
   	
   	
   	
  Sig=15.2	
  

#jets=1	
  or	
  2	
  
-­‐-­‐-­‐	
  ==================================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  34486,	
  	
  1792899)	
  	
  	
  	
  	
  	
  -­‐0.1765	
  	
  	
  	
  	
  	
  35.4065	
  	
  	
  	
  	
  22466.64	
  	
  	
  	
  380168	
  	
  	
  0.6515	
  	
  	
  	
  0.212	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
#jets=1	
  	
  (large	
  reducAon	
  on	
  cbar	
  (factor	
  ~4)	
  DY	
  background	
  and	
  single	
  top	
  (factor	
  ~2),	
  but	
  less	
  efficient	
  on	
  W+jets)	
  
-­‐-­‐-­‐	
  ===================================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  24007,	
  	
  	
  901697)	
  	
  	
  	
  	
  	
  -­‐0.1631	
  	
  	
  	
  	
  	
  33.4359	
  	
  	
  	
  	
  	
  	
  	
  15323.53	
  	
  194711.1	
  	
  	
  0.6383	
  	
  	
  0.2159	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
#jets=2	
  (this	
  mainly	
  reduces	
  the	
  W+jets	
  background)	
  
-­‐-­‐-­‐	
  =====================================================================================	
  
-­‐-­‐-­‐	
  Classifier	
  	
  	
  (	
  	
  #signal,	
  #backgr.)	
  	
  OpAmal-­‐cut	
  	
  S/sqrt(S+B)	
  	
  	
  	
  	
  	
  NSig	
  	
  	
  	
  	
  	
  NBkg	
  	
  	
  EffSig	
  	
  	
  EffBkg	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
-­‐-­‐-­‐	
  	
  	
  	
  	
  	
  	
  	
  BDT:	
  	
  (	
  	
  	
  	
  10479,	
  	
  	
  891202)	
  	
  	
  	
  	
  	
  -­‐0.2439	
  	
  	
  	
  	
  	
  15.2455	
  	
   	
  	
  	
  	
  	
  7471.508	
  	
  232706.7	
  	
  	
  	
  0.713	
  	
  	
  0.2611	
  
-­‐-­‐-­‐	
  -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
  
	
  


